
CEP91−7N

CEP91-1A

adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La, Ba]
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CEP91-2A

saturation L
adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La/Ga, Ba/Ga]
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CEP91-3A

adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, La, Ba]
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CEP91-4A

saturation L
adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, Ba/Ga]
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CEP91-5A

adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, Ba]
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CEP91-6A

saturation L
adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, Ba/Ga]
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CEP91-7A

adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, La, ]
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CEP91-8A

saturation L
adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, ]
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